Series and Parallel Circuit Questions
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Which cireuit diserrien o I”‘ sents llu correel way to micasure {1 | A resistor?
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A 15-olun resistor, 30-ohom resistor, and an wmmeter wee connected as shown with 4 GO -voll
Dl bery.
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@ ! Calenlate the ((llii\el’t il oresistance of Ay and By [Show all work, inchuding the equatlion and
substitution with units.] [2]

@ P Determine the carvent moessured v the aonmeter. 1]

>< b Caleahite the rate at which the bat Lery sy )]ﬂu S eneray Lo thees cirenit. [Show all work, ineluding the
cquation and substitution with units. | i:|

i snother resistor were added i parstlel to the origingd eirenit. what elfect would this have on the
current throueh resislor fi?'.j ]
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Which cirenit has the laruds! f?t';_i!_.i\:.'if{'ill resistance? 3
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Which cirenitgdimsium represents voltmeter Voconnected correctly to measare the potential dillerence
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' Determine the eqravalent resistance ol the cirenit, 1] |6 “ = RT
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CWhicl: combination o Aan be ased 1o
Wit edesel e I -
express electrical enc ray:
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A student L‘lJI'lStl"HC!(.’(t nit consisting ol'a 12 0-volt buttery. a 10.0-0hm Lamp. and «
resistor, The cireuit does iibt-e (

Travoltmeter or an amndeter. When the cirenil is operating, the
total current through the civewit is 0.50 ampere. \/

bn the space i o answer booklet, draw a diagriom ol the series cirenit construeted to operate the
: ¥ , ) 3 NiE
lamp. using svinbols rom the Reference Tubles for Pliysical SettingdI hr,rsar 5. |]t~..,1

Determine the equivalent resistance ol the circait. |E ”_\érﬁ ‘a‘/
N Ir 0.9A

Determine the resistance ol the resistor. | L‘ ‘/b
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A 200l resistor, Ry, and a resistor ol unknown Fesistmiee., Rs, are commeeted in parallel to
a4 30.-volt seurce, as shown in the cirerit diagrion below. Anawmmeter in the cireuit reads 2.0 amperes,

Rr= V. 10.V_ 50
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Caleubate the resistaneswobresistor B [Show all work, mchuding the cquation and substitution with
units.] {2}
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A S-ohm resistorfeard—a_ G-ohim resistor are
connected in ws o U=voll batler

\lilrif‘}bﬁ@-’nn'rf SR compares th putentia
dilferenceticross cach resistor?
e reneeic vach resistor

\[ "he potential difference across 1he 6-olun
resistor is the same as the potential
diflerence across the 3-ohm resistor.

8¢ The potentigl diflerence aeross the 6-ohm
resistor is e s great as the potential
litlerence w@ross the 3-ohm resistor,

The I_R'ait'z'ilieﬂ differcnce weross the Ge-ohm

resislor s N as ureal s the pu!mlli:i!
dillerence erdss the 3-ohim resistor,

)’( The potential difference wcross the G-ohm
resistor is fouy Mnes as great as the potential
diflerence actoss the 3-olun resistor,

9)

The vesstance ol @ cirenil remains constant.
Which @aph best represents the relationship
between the enrrent in the cirenil and  the
potential diflerence provided by the hattery?
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An electrie cireuit consists ni‘\u\-e_/\_k
connected tooa soree ol constant potential W
dilTerence, 11 the resistunce ol the resislor is 0
doubled, the current thirongh the resistor is .__,\.L“J 'A r{ ....‘ n
1;11\-1-41 (3) uartered \/ s l R V:- | \/ 'l = P
2) donbled () quadimpled ! ¢ \ ey !
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11)

A 15-ohm resistor and a4 200l resistor are connected i!@l;h“(' ith o 9.0-volt batterv. A
single ammeter is connected to measure the total carrent ol the Sircail
— T
In the Spaee G jonE disieer Booldet, driss edlw{?i ar of this cireuil SN x\ml:(sl\ rom the !ll‘}(fh nee
Tuldes Jor Physical Setting/Physics. [Assume the avalalilite of wn mmber ol wires of ne aligible
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Y 3 =_
Cigettil A lus Tonr 3.0-0lun resistors connected in 0 Qj— J\J [DO f}_ M
seriesAvitly a 24-volt hattery, and cirenil B has two Rr O- i DN
S00him resistors connected in series with a ('?0 Q G}' . :1:;"
2f-volt battery. Compared to the tolal potential = w"?’__" = 5 [ B
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The  divgram below represents a0 cirendl
consisting of [ lwo vesistors connectod o a sonree Ll-\j.r

ol potenti ! diflerence. &W\MQ M = \
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What is e current through the 2¢
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connected o TI;kEle'l}, A 25-ohim rosistor is to
e conneeted i e cireat. Determine  the e :K‘r \—W\
shallest L alent resistance }‘m%‘:&ih]l- when la\b f\'/

both vesistors are conneeled to Lhe !ranlrl'}. ] Lo,

Jro.wl 35 R enlo [P W ?} loo,ﬁJ 29
MM/QT%JO'Q" 1 (gﬁ

. (09—:”; ao!



15)

23 Whieh  cireait s
resistance?
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